CATCHFORC%

ASSEMBLY INSTRUCTIONS

KATAK==O]




HKATAKPRO]

M8 x 16 (6)

CATCHFORCE/7/

-/



CATCHFORCE _—7
////

........................... |

-'-ﬂfﬂ-ﬂ---f -'-FH-F‘---FFF
o =
el e L
- _f_,_,.,-o-"" ____,f'
- - o o
e ...--'"Ff .--‘”ff
’f*"ﬂﬂ g gt =
f_,a—"""ﬁf ______'_,.u--"’f -f_,,ﬂ-"' --;‘_'_J_,.,-r""""
B T /ﬁf e il
- ’-__.r"- = -
f.—-,—ﬂ"" f“"ﬁﬁ ﬁ ﬁ,f f_,.,.,-ﬂ'"" P
/%P%{J__,_..f - f,ﬁ” f'-f- __..-f"f# =
o - ==-=.=_.,=__=::/ s _,.a-"f-'-- f__.a—”f #f!/_,_,-"
| _ﬂ“"%:% sl T . —
—— — -
= —— N B e _i_,-/-"'f -’/"_.—

HKATAKPRO]



CATCHFORCE _—/
/7//

M8 x 16 (2)

HKATAKPRO]



CATCHFORCE _—7
////

........................... |

- - e e 2 E] o
) f T . i

[ e

et -~ T = =
- T |
T - T -,

z - P
- o - e =
e e -
- -~ - S e
- it e il
-

M8 x 16 (12)

HKATAKPRO]



HKATPARKPRO)]

M6 x 12 (8)

M6 x 20 (4)

| BARBELL

CATCHFORXRCE _—7
////

2 — —~ <3

WASHER 8

= e

BARBELLWASHER | — =




BOLT

- -
e
L& )
r"‘-’.‘
e W7
Z > T
7 R
Y e B

WASHER 8
L = |

M8 x 35

HKATAKPRO]

#

CATCHFORCE _—/
/7//




CATCHFORCE /
7




CATCHFORCE _—/
////

SHAFT

b Imex12(4)

|
| 1]
.;. ".
i A

o ||| <—]_SEAT STAND
-
RIGHT FOOTREST sl

S, =1 M8 x 12 (6)
A 6."‘- ;”".-

>N ME X 16 (4)

|/

LEFT FOOTREST

KATAKPRO]



CATCHFORCE _—7
////

ELASTIC

HKATAKPRO]



ROPE SHAFT

ROPE

HKATYAKPRO]

M4 x8(1)

To shorten rope tie and
adjust to appropriate
length here.

CATCHFORCE/7/




@ ® © 0 0. 0 000000000000 00000000000000000000000000000000000,

SAFETY PRECAUTIONS

SERIOUS INJURY CAN OCCUR IF THE FOLLOWING PRECAUTIONS
ARE NOT OBSERVED.

1. Always consult your physician prior to undertaking any
exercise regimen.

2. Keep head, limbs, fingers, and hair clear of all moving
parts and flywheel cage.

PLEASE NOTE For the CatchForce Ergometer, the working
areais:

2.2 m(7.25 feet)
3.5m(11.5 feet)

3. Inspect machine prior to use. Do not use the machine if it
appears damaged or inoperable.

4. Contact manufacturer if machine is broken or jammed.

5. Use machine only as intended.

6. Do not modify the machine.

7. Children must not be allowed near this machine.

8. Teenagers must be supervised in the use of this machine.

9. By using the CatchForce Ergometer the user accepts all
and full responsibility for self.

© © ¢ 0 000000000000 00000000000000000000000000000000000 o

HATARPRO)]

CONTACT US
WWW.KAYAKPRO.COM
+1914 3105899
SALES@KAYAKPRO.COM

KAYAK AND CANOE ERGOMETERS TO THE

ATHENS2004  E3%jing 2008  fondon 2012
2004, 2008 AND 2012 OLYMPIC GAMES

QX QA

S
Q9

KAYAKPRO USA LLC OFFICIAL SUPPLIERS OF

SUPPLIER OF ERGOMETERS TO NASA
LYNDON B. JOHNSON SPACE CENTER | HOUSTON, TEXAS




